MAT2705-01/04 05S Quiz3  Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use

arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL
parts of problem. Keep answers EXACT (not decimal approximations, if possible).
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to its fully reduced oo echelon form (rref) by a senes of single row> eperahicns
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Consider a body that moves hon'zor\’\‘a\hj -fhrough a medium whose resisance is
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4% OPTNAL PART only for those students ho are sure everything they did above (s cotvedt and
who have exdva fime 1o leill « X . - t=)
T¥ we dhoose hme unils so that V@A) = Vy is the value of the velodihy ot ime s

sove for R and re-express V(t) in temsef Va, s\mF(lfgthg your result,



